Wednes day 14[12 : 3k lectare L] 2024 Lectare L7

Wednesd, L8712 :Quiz ‘
™ Probabi i ves _7_-/ (revezas

o{f’
We shoed char Ko SZX A X X Howevwr the DT

] 4
for pet, if Xo =2 X omd Ix.]¢ Vel =7
D) X Xed
Q) X =5 X

) EQG) — )

Wealker seatement 017[ the DCT
If Xo oK wnd pr0: [Kule Yel! chon

) N, X e
) Kk
i) ElXA"— elxl’ ( Exorcize)
M 720
) EIKI"< £y Bux Yel! thoefores EIVIT=EY ctw -

= EXa|l et = Xel'

/JOw ne prove (—haf X@t’élb
Lect 18
Xo DX = F(%)<(x): Y =3x

‘ BU.‘(./ Ay 'C}be (/0{ T (GM U N0 g 'A&PF’IW 7/(/60')’1‘%41) ) 5 vIce ly,f,‘} Cﬂhf;q

Jlgs)



P Py

/‘//éo) (p AR Gpogpamn Z*

Vi
(%) < (x)
l)(.,ls y — /X.'/_(IY ——ch /Y,,(f’ < yfc.[!, s Mce EYf<fco_

so 'f/(,e coqaé‘t(‘on} of Dcr a)ye Sat/‘s red a«md

()((f@[‘) ELNF <t — Kol
P
)/%Sume -tblat X 7 Z
Chen :
oo & V) c(X) E/)’"-)(/fae) ood.

Mocove,
Vez)ecr), Ele-x1Me  foxl,

Bus, by wswmption X=X o for 0.) (X, (v £X)
(2)e (Vo) En Sx S s x2S 0,

Bue, |2 )c!“(l'%f X1 and E(Yeixl) v —
,<’ t (”e,é”

e amdprrre W w wpeagrs o< are) B
—?E(Z\n KI’—v[;‘(o) 0 | conTra c{/dro«fz /E [ Zn- / > € %«?()

L D&T

¢/
go, f/'ﬂ% 0 N —’X.

2%,



Erorcise: Lee X, V: R-R be ral ~amdom varables omd

ne oée](r‘nfe'

100,v)- Ef JQ;X}y’, Je o),

“) I{ X, )’,Z»ﬂ-—;R yovn oV mm'ab.fe), s how that:

) A ¥)=0 = p(x=7)=1
u‘) J(X,Y):O((Y;X) '#df}c(/)se%a/om&f/nz.
z) d(X,Y)e d(x,2)r d(E, Y)
” Let X, (X)..y vamdeor vamables  Show that:

4
X 28 ol x) s 0 (Se L s etns eable).
Sag@r;%

Lee gew= 2, aelor)

Rﬂpmies o _q:
J (V)

’ 7/0)’ w,v >0, ne have J(mﬂv) fj(u)fé;-(’v) =

=)L L L
Lftutv 6,;“ 1[17 f»g =

o Lo Ly

'(fu' LTv i Lrutv

—

s



InCd?C’G/
{ ) { . ArLtaty o frLtatvtay [ (Lta)(Ltv)
lta Litv ﬂfu)(lﬂ/) i @‘M)(lﬁ/} (Lru) (1+v) }

L Sy T Y
(Lea)(4tv) Ltutviny utvt

We mw now show 'f/?at 5), 54‘), ’/“} Am/o/

i) d(x, ¥)=0 e EM/)]: 0 e g(x-v1) :0-'](0?

JI‘! ¥ oL,
— x-yIT0e x Ve Paey)L

i) d(xY)<dCnX) obiiousky s Ix-v)=1y-x1.
&) d(x, ) < E[5000]
EYWw@me]) ne O'Veeaf t0 S;how —cL/ac;

e qCirvl)) <E(g Cwrl)] « Ll (12:Y0) .

¢ ;ufﬂcej o show  that:
J({X—H) 4 (7 (/X-Z"I) 1‘(7 (/E-Y))) sce they e take capectarion

We kqﬂe fﬂmt‘:

d pree: e
JCM—Y))jg J (lx-2]¢(2-Y]) € J((MW g(le vl)
a[J

S; 1LL£ /-'I/O"/ ’s wwyh@ce.

1z



b) X LY & 4N, X)— 0. (= E[UXTY]—C)
ﬂ(ﬂnt

2ot X, = (X720 22 gltxa-x)-L g =0

Bu(, $ivice j 3 }oonnded bj 1) ZJ BCT: X EP Egppypred ,57‘,2, 2095
f(-!-ve 20 ro|ld 20w P{aq)fa,

el gCinxt) ] —E(er=0=
= d (X., %) 0
‘:v Zet €>O’ asgonpt™

Mo [ g ()nr1)] — O

P [»e) = PLg(11-xd) >c7ff)) < .
¥ 5 J°

o
0%

DI'S—M’NDMT;OW 0][ a  ramdorn m/yiql&’

D(?](r'w‘.f/;wf Ze'c (.D,)?/) P) ﬁe a pyoéabi:féfzz] S}a:za’,(fj‘g) LEa meajurqé.ﬂe
nga“’ ond Xﬂ”’é\ be o vandom Vm‘a&/&. Che szvaé/',é"y Wreasure

PK" /é“’CO,U 67 E; VV;H"
P (B)=P(x7(8) = P(heB) ¥BE

Is callled @ﬁ’iéurion d][ i ((CW/L7 2 )l’) or rudced prﬂédb/'/é;? meq:

%[{ﬂ%ﬁw ﬁs‘z(od s Z«yza/}), or ;'mcijqe 17eas Ure o]( P via XCJE;“

Clova 209 Pw} fpos 7?).
_g'%_.”’l_%’_k." Px 'S "’W[QP‘/ a Fﬂﬁaé/‘/éﬁt‘ measure  owv (E) 6)

Iz

S



Obw‘oub%J P (B)> 0, VBet¢
D) Px () PGR)= Pep) < 0
'4') If Bt in F, then

X Bnx m) X /53)-/@'

(UB) P(X (UB)) /D((//\’lfﬁ)

r-adelie .
= 2 P(xes,) = S P(5)

Tlume]é»f E’S a measure.

Be(€)z POXi(e) < P(2) -1 it is « probableymeasare
/ ﬁr(B)?/()
[ i) pete)et
5) @)¢ = omadd
g/;fa’nﬂ caje Of ineoreses  whon (E/ ’é) '—'@/ BCR))
Change of lacble Fle (s i ooy

7&@1’9 . Ler : '

402 i O?,%/a be pwlmlwéfy cpace, Gg‘/ g) b o meersivable
s/oace dﬂd ﬁ/: JZ “’E ée o .rdmﬂ(Om dezﬁe MY[t ow(/)cw'éurz'ona
PK. TA,@N beow bt 0€ fupo madeyses | rall LOreby o P 2 p.

tyhff_’[a,f“j ’mCaSaVab,@) we  have E—P[)’I(K)J s EP [}1]
X

or ec/uiménv%:
/ f\‘i {LVH Prée rat 2w
&% uclrirhf ﬁmj,

//L(&))K/P(W) =/I1(:r)0/€((x) ( [) X ) a6 rdae Cefan
S 3 )



If hiE—R s measurable, then either both members of the
fined oamd are eymz//, or both members are

e.tiuafi(?n aye W/& 0'((’

not c(ef«‘wed.

e E €) <R »w), €k :/x(w)a/ﬂm :/,4/; (x)
S R

|
‘
Dot
Fy mple, caswmble,
__;_1./ f')rst/%, ﬁv LL 5 /mp. m o ﬁ/z_qm
: : pd neown oz €
A:Zd"f,y- e {, a; e [O10)  Ltctn //
&4

m

g Zn a: P(Ked:) = S B (A) -
i1

» 0. So

ey

£l W) E [ &2
- £ [_é“"j%j:% (i)

2| For h measurable, 70
i Cuch ay b thore exises (b)) of simple, measurable, %7
functions : b= /é“‘” b S,

£, Chen] = £ Himh {x)j%-%‘l/?ﬂé& ) &

s €y ()= 6 (G 1) = 6 (0

53] for k wmeasurable,
bbb, where b b saeify S2



E,[Lx)) = Ep[h(x)]=r= &5 6 (h7) -
= 5P [h(X)J s not nell a(é’fmeo(""
e € (n) b et well oAefned.

OLherase,
& Cher)] = G0 0)] -6 L ) =

{ (1) - (U -

= EPK ()4{- Aﬁ) %
= Ep, (k).

2 (ZL-) = 0




{"type":"Imported Whiteboard","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Whiteboard","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Whiteboard","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Whiteboard","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Whiteboard","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Whiteboard","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Whiteboard","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}




{"type":"Imported Other","isBackSide":false,"languages":["en-us"],"usedOnDeviceOCR":false}



